%I!f; E @ g ;8; Phép céng 2 chit s6
Tén: Ngay thang: Piém:____
49 38 24 56 30
+45 +25 +93 +89 +23
40 22 82 11 15
+58 +23 +64 +69 +50
35 50 37 65 36
21 36 38 75 31
52462 450 462 417
55 52 43 90 38
+32 +54 +67 +94 +38
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gﬁ' E @ g Phép céng 2 chit s6
Tén: Ngay thang: Piém:____
49 88 24 56 30
+45 +25 +93 +89 +23
94 113 117 145 53
40 22 82 11 15
+58 423 464 469 450
98 45 146 80 65
35 50 37 65 36
91 82 106 134 /79
21 36 38 /75 31
+52 +62 +50 +62 +17
/3 98 38 137 98
55 52 43 90 38
+32 +54 +67/ +94 +38
37 106 110 184 126
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